Sl_lbject- Compulsory Science Full Marks: 75
Time: 2 hrs 15 min

Candidates are required to give their answer according to the

given instructions.
9 gvAEE APt o |

[Group 'A' ¥WE (&) | [1x15=15]

1. Write short answer of the following questions: F@® mee®! B I

1
a) hat is free fall? === @ag @ F &1 1)
ame any two devices that are based on atmospheric pressure.
(ATAOEHY ATTHT JTHA FA G ITROTH AW e AN
¢) Write any two causes of energy crisis. (331 gFzH 7 FeA2 F
\/W ¥
Ld)/Beﬁne heat on the basis of kinetic energy. (i wfera1 dTHTH

Argers afeeTfaa THEE |

e) What is mutual induction? @I FreFA TP & & 1)
f) Give an example of single splicy&—f (vFar faearas i
FeTE feARg 1 ) |
g) Mention any two exa/mﬁiés of inorganic acids. (FMAF FFT
A& B0

h) What is dry ice? (FTe4TEs | | o
What is added to cement'in order to increase the setting time of
/)

i), .
N it?:hﬁﬁﬁﬁzgﬁmaﬁjmwa?m N
j) What is the function of vaso-motor nerve? (ATA-AIEX A *

ar )
k) What is an ecosystem ?‘(WW wrf‘ﬂ aﬁzﬁr # &)
[) Whatis hacmophilia 7 @RI TR ERD o
m) Name any two organisms that reproduce by multiple fission:

:mwwﬁ@aﬁﬁaaww@n
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irs of contrasting characters did Mendel study in his reseny

T Iy s o o e Teat st o per

o) Who propounéed New Planetesimal Hypothesis about the origin of th ~
mh;wmmmwmmmwn

Group - 'B'(13 x 2 = 26)

2. Patachute fall is dangerous in the moon but not in the earth, whyﬂ'j

N (ATRTHE H0E F7HH G 77 77 AT 4R, fem o) |

3. Tron nail sinks in water but ship prade up of iron floats on it, why?\/i
(FEATHE fFeT aTirAT g5 A0 g TAF THATHAETS GATHT A7, R 1)

4. Distinguish between renewable and non-renewable energy sources

» ~with examples. #fa#wofrr 7 gafaaedim sfear grazefrs 3zreeo afeT w

5. The focal length of a lens is 2 cm. If an object is placed at 3 ¢cm fro

~ the lens, calculate the distance from the lens at which image is
formed. e Tt Ffzwor g 2 4 W @ | gfg TS TRWE AEE 3 |
1 FIWT IR FEAE FAF gy gt a=y, A wHAR )

0. Mention two factors that affect the rate of chemical reaction with
examples | AEAE gfafFarar wvaE g@7 ot X 7% aEEs IEreen @i

Jvlg THETY ()
7. What kind of salt is sodium br-Sulphate, why? @fzTa a2aeRE s
: T & fEar

8. Write the electronic configuration of copper by using sub-shells. A
& . . - . - - . . -
. Awrite any two uses of aluminium. (TT-3=F1 SRy aTaTE TR =

TSR | WY deRiTAwaT ¥ agas qum AT
9. Detergent 1s a better cleansing agent than soap, why? Give any two
reasons. ("Ts+ J«=21 T2 3+F 7TH] FteAE U Z [ 2 ;',ﬁ TEAZT FTO h"TF'T‘?
10.Adentify the bees shown in the figure and mention the major role of each
FrgdT TarEuE G1fes 90 Gy ¢ yAEE ey GINET Je THE 1)
g
/ %E \
A B

s’

I'l. A patient critically suftering from diabetes is administered with insulin
vaccine, why? (@ meat farieng gia st g i
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12/ Which chromosomal disordered person is shown in the figure mlow
Write any three symptoms of it. e ferrat FHTEUH wfe A

a7 Faarslt 71 2 77 FIHTATHA FeaagvE F A AAE TR |

A
dary pollutants with

13. Distinguish between primary and seg
examples. (Frafi 7 fadrr AR TR weF FEATEAN
gt AT AT, (A

14. Meteors are called shooting stars, why 7
https://www.nebstudy.com

Group —'C' (6 X3 = 18)

' acity of three substances is given below.

lS.)’ﬁc specific heat cap
’Answer the given questions on the basis of it. @raar F&H fafre am

mﬂﬁ?ﬁmaimwﬁwmwm,}
Specific Heat Capacity

Substance
(qard) (fafiree. AT T 91t _
X 380 J/kg'C
Y 910 J/kg’C

470 J/kg'C

Z
a) If equal mass of each substance is supplied with equal amount of heat,

which one will have highest temperature, why? @fz =77 fovgar yr

b) If equal mass of each substance is at 30° C, which one contains
maximum heat, why? @fz aa fovea 5o a5 30” C o1 & 99, &

TR arafes a6 g7, ()
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A\ kind ,
% thEOf'dEfECt of vision of the eye is shown in the figure below.
Magragy 2Fear ﬂf't’e" questions on the basis of it. @@ #1 ferrmy o Fefamay

wﬁlmmmwﬂw&ﬁm“

a) Identify the defect of vision.stamT 3fiz 2 wvr TR 1
b) Write any two causes of it. @it gfie 2 géaer wo e 1
¢) Draw the correction diagram of it and explain in brief.
17 fmzfgmmmmw:m@mmmn
N _;J-fﬁnthamdes are called inner transition elements, why? Also, give any
tWo examples of actinides! F@rararszaars fudr gt 7= whvg, fea
Y ferarrgEer w5 wEaer Twe e )

18. _“-’hat 1s iIsomerism? Write the name and structural formula of the
1S0mers of butane. (wrzAMRA TTF F A [IAF AGAAGEER] ATH 7
TAEE qF A EH

9. internal structure of the human heart is shown below. Answer

the given questions on the basis of it. @« farwr @ gegar Arfr a7
TERUH! & | qAET ANITTAT (GZ0H TYASF I TR 0

Label X. Y and Z. (X, Y T Z 1 A/ &t |

. > hy?(Z
b) 7 is made up thickest and strongest muscles, why? ¢
ARl qra7 v At A aHE @,
1S 1 ' iculture?
is ti . 2 Why is it very important for horticu
What is tissue culture’ y ery 1mpo
20. easgns,lmmmmmrfzqwmaﬂﬁ

Give any two r ' i
it wEes £, a7 7 3¢ A )
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Group —'D' (4 x 4 = 16}

An electric device is shown in the figure below. Answer the

21.
following questions on the basis of it. @ feraar vge frgdTa 3TFTW
TWIEUH B ) qwF araen fazua gy 39 faEe o

d)

Galvanometer

Carbon Brush

a) Name the device. (ITFHI AR TEEH 1
b) Label Xand Y. (X 7Y & 7w stwg@ra v
If X is moved at high speed, what change is seen in the

c)
galvanometer, whyz afe X avé g== fen =rersy wnda,

AT & we afg=g, B 7)

Write any two wavs to increase the output of the device, .
A IURINGE TEMEA B kT afg 7 A 7% IUT AT 1)

22. Laboratory preparation of ammonia gas 18 shown in the figure
below. Answer the given questions on the basis of it erar Fara

TATRTIATHT TAHaT 319 3

feter= 1)

37 AVET THTEUE | THF ATITAT [Z50H gvaa I

CaQ

Which chemicals does 'X' indicate? ‘X' & FA FT WA

TS, 7 )
b) Write a balanced chemical equation between these

chemicals. @ wwmfaw g7 awfora e wferar JeE n_..

https://www.nebstudy.com



raugh
c) The gas produced in the round bottom flask is passed thro™
lime tower, why? (773ve fig WU@ TaT=FHT Iea=A !

AT ZravEE IaTEas, fFAH 4 |
23, A cross of hybrid tall seeded pea plants is shown in _a table
Answer the following questions on the basis of it. = = =

FTT f5ATE FVTIAN KA A@ISUAT B | TEE AR fgwat T
LR

peloWw-

Offspring

a) State Mendel's law verified by the table. Zx= gfe = fogH®

AV Cent ing is phenotypically tall and whaﬁtéy
b} What percent of the offspring i1s phenotypica .
| : (Ffa afeea w4t 5l
Eancacesil

t of the offspring is genotypically dwarf?

b Ff gfrere wat FaIH A2 91

Fergar arg Reafefassdr ver T

e e 7) _
c) Some seeds obtained from this cross grow into tall plants and some

grow into dwarf plants, why? @1 FXarz 3=177 &4 fagame S8 sver 7 I

24. “Formation and dissociation of ozone balances the thickness of the
ozone in the stratosphere.” Justify it. Also, mention any two ways to
conserve ozone. “ArA T 7 TFA TFEAH LRICHIH] AATH WErg qw=1aq
TG’ | A1 qATEATS Y@ THATH | ATY HTAAET A T FA gF ING I TR )

¥ d ook e i gk
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